g .

Copyright FCI. F

-

REFERENCE SPECIFITCATIONS

-NFC 93425 (in compliance with HE 508) Series DBM' 255500|V||\|
PHYSTCAL CHARACTERISTICS A

-INSULATOR MATERITAL: THERMOSET UL94V0
“CONTACT MATERIAL:  BRASS held (526: hE A$ B;): D
GOLD OVER NICKEL vee e
-ACCESSORIES: STEEL FOR METAL BRACKETS B
Cadmium plated, yellow passivation Front accessory definition
THERMOPLASTIC UL94V0 FOR PLASTIC BRACKETS (see sheet ?2)
BRASS FOR OTHERS ACCESSORIES Bk Wi thout occessory Obligatory for HELoOS
Cadmium plated, yellow passivation L :%hrwded nsert M3 B
ofELLS: STEEL 0 threaded insert UNC 4-40
Cadmium plated, yellow passivation V female screw UNC 4-40
LECTRICAL CHARACTERISTICS Layout of contacts (see sheet 3) =—— B
-NOMINAL CURRENT: 1. 5A 9,15,25,37,50
-CONTACT RESISTANCE: <=7.3 m Ohms Contacts —
-CONTACT/CONTACT >21000 S Socket
-CONTACT/GROUND >Z 1200V Termination %ype —- ¢
-INSULATION RESISTANCE: >=5000 MOhms 5 Right angle/Europe standard
Plating -
ENVIRONMENTAL CHARACTERISTICS | |
00 Right angle 500 matings/unmatings
- CLIMATIC CATEGORY: 55/155/56 ‘ ‘ ‘
43 Right angle 500 matings/unmatings
TEMPERATURE RANGE -55°C TO +155°C for harsh environment
JAMEHEAT STEADT S TATE D0 DATS PCB accessories definifion(see sheet 2) -

SALT SPRAY 48 HOURS Blank ‘Plastic brackets D
MECHANICAL CHARACTERISTICS C Without brackefts
RETENT ION AGAINST TORQUE: -Threaded insert:0.7 N.m min M Metal brackets
-Female screw: 0.5 N.m min —
E

|
L(@@@@@@@ CACAT) @WW @ R ———
k@@@@@@@@@@@@ﬂ ﬂ
LR -

surface - tolerance std |projection
2o WAY FOR EXAMPLE www. fciconnect.com 1S0 1302 \/ 1SO 406  1SO 110 @S mm
TOLERANCES UNLESS OTHERWISE SPECIFIED
Dr | M PESSON 2006/11/14 0.X +0.3 size Scale
o] econo 1dr ] dote Frng [P OLEGARE 2006/ 11714 MU Civear [ o 0.1 A2 20| F
A NS00 0 TANPE 2008 /L TIAR e TP L EGARE | 2006/ 11/14 | o [« 0. xxx | +0.05 ECN 1S06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
a | - pt Rev.
\/}J T with right angle contact = A
catalog no - CUSTOMER [sheet 1 of 3

2 3 4 J 6 1 8

ROS—Re=A e e e e



2 3 4 6 1 8
T T T
A = = =
S S S
| | - | L | - |
| | | | - | | | | | § < | |
B ( NG 1 ﬁ 3 5 1 ) \N i X\J # Q\if [ 1
— #3. 10 40| e 4 @300 0.1 f
FRONT ACCESSORY Blank Withoy! L nsert M3 V female screw UNC 4 40 Blank Without I— insert M3 V female screw UNC 4.40
O insert UNC 4. 40 O insert UNC 4.40
c PCB ACCESSORIES C  Without C Without C  Without M Metal brocket M Metal bracket M ieral brocked
| )
D = W | | = T |
S _ L e - = —
~ | | ~ ~ H | |
L g B nn
[ N N h\ [ [ [\ | N ’_\_‘
@300 0. f
; L
| nsert M3
m FRONT ACCESSORY Blank Wi+thout O incert UNC 4 40 V.  female screw UNC 4. 40
E PCB ACCESSORIES Blank Plastic bracket Blank Plastic bracket Blank Plastic bracket
= surface - tolerance std rojection
i: WWW»{CiCOﬁﬂeCJF.Com SO 1302 \/ SO 406 [SO 1101 p@g mm
S Dr | M PESSON 2006/11/14 o X 05 | size Scale
F Eng | P LEGARE 20067 11714 ™AL nEan 0. XX £0. | A7 2: 1
Chr | P LEGARE 2006/ 11/14 [0 [ 0.XKX | 4005 ECN 1S06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
& |2 SUB FEMALE DM HES508 series|- e
- - > COI1-8637-1748
SCALE FQJ/ “ with right angle contact < A
catalog no CUSTOMER |shee% 2 of 9
2 3 4 5 8
PDS: Rev—A STATUS:Retgagertey-Al




F9 -

Copyright FCI. Fc
[/

-

A
FRONT PCB | FRONT PCH [
shell size Contact number
PART NUMBER ACCESSORY ACCESSORY PART NUMBER ACCESSORY ACCESSORY
f X X
D¥Mx xSS500CN without without D¥MxxS543CN without without
D¥MLxxS500CN insert M3 without E 09 D¥MLxxS543CN insert M3 without
D*MOx xS500CN nsert UNC 4. 40 without A |5 D¥MOx xS543CN nsert UNC 4. 40 without B
DxMVxxSS500CN female screw UNC 4.40 without i 26 DxMVxxS543CN female screw UNC 4.40 without
D¥Mx xSS00MN without Metal bracket : D*MxxS543MN without Metal bracket
D¥MLxxS500MN insert M3 Metal bracket 37 DAMLxxS54 3MN insert M3 Metal bracket
D¥MOx xSSO0OMN insert UNC 4.40 Metal bracket ) 50 D*MOx xS54 3MN insert UNC 4.40 Metal bracket B
D¥MVxxSSO00MN female screw UNC 4.40 Metal bracket DxMVxxS543MN female screw UNC 4.40 Metal bracket
DaxMxxSH5O0N without Plastic bracket DxMxxS543N without Plastic bracket
D*MLxxSS500N insert M3 Plastic bracket DML xxSS543N insert M3 Plastic bracket C
DxMOxxSS00N insert UNC 4. 40 Plastic bracket DxMOxxS543N insert UNC 4. 40 Plastic bracket
D*MVxxSS500N female screw UNC 4.40 Plastic bracket D*MVxxSS543N female screw UNC 4.40 Plastic bracket
CROSS REFERENCES HES08 and FCI 0
, FRONT PCO
1508 P/N FCLTRN ACCESSORY ACCESSORY
HESO08PxxVSo6 D¥Mx xSS00N without Plastic bracket
HES508Mx xVSo D¥Mx xSH500MN without Metal bravket
E
surface tolerance std |projection
WWW»{CiCOHHQCJ(_C()m SO 1302 \/ SO 406 [SO 1101 mm
TOLERANCES UNLESS OTHERWISE SPECIFIED @76 L ]
Dr |M PESSON 2006/ 11 /14 ANGULAR 0.X +£0.3 size Scale
Eng | P LEGARE [ 2006/11/14 LINEAR | 0.xx +0. A2 20 F
Chr | P LEGARE 2006/ 11 /14 OO‘iEO 0. XXX +0.05 ECN LSO06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
ale - ° Rev.
ﬁj T with right ongle contact < A
catalog no - CUSTOMER |shee% 3 0f 9
2 3 4 5 6 . 8
e SHAFLSREEAZSHerA-—sTarosRieR S e et brtraatbrrors——




)

Copyright FCI. Fc

-

DIMENSTON FOR SHELL E, A B,C WITHOUT BRACKET
o 20 63 +0.03 A
HH‘HHHHH(THHHH Dimensions are In millimeters
| |
e O L R — | Shel I | Number of A fé)‘w; B T8.25 C +0 |2 F féjﬁ? G fé)l25 H ol —
5777777777777777777777777” size conrtracrs . 70
@ \Q\ \Q\@\@\@ @T—\@\Q\Q\Q\Q\ @ J( Jr
DO POOOOOVOLOLOLOO 5 09 30.43 |16.21 |24.99 | 10 64 5 05 1902
\_ ﬁ\ Jﬁ L
. A 0 38 .76 |24.54 |33.32 | 10.64 6. 05 27.25 B
e B[ 25 |52.65 [38.25 [47.04 | 10.64 | 6.05 | 41.02
! - C 3 68 94 |54 .71 163.50 | 10 64 5 05 57 45
IR R IN OTN | |
= _ _ ! C
: T
- | | i | | | =
e T | r I
j ; R | | j
- B D
) 0.5 - - LAYOUT DIMENSTONS
A _
B - 0.9 mini
3 C - 276 sheTT 25°37] _ [1.38 shell 25-37]
f 7 = (2 74 shell 09-15] [1.37 shell 09-15] [~
- == - o 216 chell 2531 ‘ ‘ ob bdboolooooold
- 2.14 shell 05-19] L <) 0000000 O0O0O0O0O0o0 @
] ,N‘ e N [
|
Qo)@@@@@@@@@@@@(7L | o T —
; ©O0OOO O @@@@@J \ ' .
| “ \/ Y, %
L A o T T
@SOO -0 Dr |M PESSON 2006/ 11/714 0.X +0.3 size Scale
(738 shell 25-37] Eng | P LEGARE 2006711714 ™MV e ar 0. XX £0. | A7 2: 1
L E— Chr | P LEGARE 2006/ 11/714 0°‘i2° 0. XXX +0.05 ECN LS06-0174
“.37 shell 097‘5‘ Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
[~/ oW ri angle contac ©
/ CG*O‘:;M - - —— CUSTOMER |shee*40f9
2 3 5 8
———— e e e




2 3 ) 6 1 8
DIMENSTON FOR SHELL SI/ZE E,AB,C WITH METAL BRACKETS
A L 2063 400
il Wi Dimensions are in millimeters
. I ] Sheld Numbjf%of A 1?‘76 3 TS‘% C x012 | F fé)ﬂ 61325 | 1?'5
— \Q\ \Q\Q\Q\QEQ\@ - Q\Q\Q\ - ‘ e
Wa oy o w oo g 09 30.43 |lo. 21 |24.99 10.64 6.05 19,07
A < Al 15 |38.76 |24.54 |33.32 |10.64 | 6.05 | 27.25
B —
H = D 2O |52.65 |38.25 |[47.04 | 10.64 5.05 41.02
) - C| 37 [68.94 [54.71 |63.50 | 1064 | 6.05 | 57.45
12 40 B
o N N I N NN N R T |
C| — AN v 1 — |
i [ |
g @ ‘ | | | | | | | | | | | | ‘ @ ‘ ‘ | ‘ ‘ | j
- y 1‘ A L ‘1 j [r:ﬁ/z z
' e Il |
| ; | -
’ - . : _ s L [AYOUT DIMENSIONS
0.9 minl
_ C _ T 5 ST 3537 [1.38 shell 25 37]
N % . = | | Tashert 09-15] [1.37 shell 09-15]
- - ™ ~
i = [2.76 shell 25 31] v | N ‘
' - ‘ O O O 0 Ol0O O 0O O 0|0
= - [2.74 shell 09-15] A %> Y666 6o ? R <}
E 2 Nv 1 | L[ |
p ~_ |77 N | |
@ %5 @@@@@@@@@@@@@/ @ Lo e T
g ) | 00000000/Q00C——~Fi—; |
\ j < C
=] — L | -
| T T ——
'i T www. fciconnect.com \Ssuor\;;;e \/ \;)ojoredni:osuow péeén mm
§ — — —— TOLERANCES UNLESS OTHEORYVX\SE SPECi\;\SED — ‘SCT‘e—
F [1.38 shell 25-37] Eng | P LEGARE 2006/ 11714 [0 Linear [ o +0. 1 Az 20 F
- Chr | P LEGARE 2006/ 11/14 0°‘i2° 0. XXX +0.05 ECN LS06-0174
“.37 shell 097‘5‘ Appr | P LEGARE 2006/ 11 /14 | Product family - | Spec ref
SCALE: 3 F?) © SUB FEMALE DM HES08 series|  «4,.8637-1748 |
:wi ri angle contac = A
d CG*O‘:;M = - — CUSTOMER |shee*50f9
2 3 4 5 6 8
————— e e ey e s e e o T P




2 3 4 ) 6 1 8
e 2063 0.0 DIMENSTON FOR SHELL E, A, B8,C WITH PLASTIC BRACKET
A o m m A MM nm m
Kﬁfﬁf 5 O O A / y Dimensions are in millimeters
RN RiRHatE BININIR +0.76 +0.25 +0.57 +0.25 0.5
%ﬁ 1 \Q\Q\0\0\0\916\6\0\0\0\0\ %]N Ssheze Ncuomﬂb:;cfoj A ! B ! C S F ! G - H -0
m /N ddowdddodddod |||\
@\ /@ | H 09 30.43 |1o6.2] 2499 10 64 6 05 19, 07
o Al 1o (3876 |24.54 |33.32 | 10.64 | 6.05 | 27.25
H -
| = - ~ ] /D 52.65 38.25 |47.04 | 10.64 505 4107
. C| 37 |68.94 |54.71 |63.50 |j0.64 | 6.05 | 57.45
N 1.2 400 _ -
A ' N
= I . e S ALK ALK ILOR ey S
; ‘ | | | | | | | | | | | | ‘ ‘ | ‘ j
! = = ' j | J = N
I J I oF W | I
7 ; = -
D : ) h b tos | | :
- — - LAYOUT DIMENS TONS
0.9 min
C - T 5 ST 3537 [1.38 shell 25 37]
) ; = | | T4 sheTT 09-T5] [I.37 shell 09-15]
- ™~ N
- [2.76 shell 25-37] ' | \@ ‘
- o —— ‘ O O O O 0Ol0O O 0 O 0|0
‘ 1 E | 274 shell 095¥ﬂ | %> © 000000000000 @
- | 7 \ | ! |
@ @ @@@@@@@@@@@@@/ @ Lo e
‘g ) | 00000000/Q00C—H—~Fi—; |
) - (
R N 1 |cO
e Ty T
< - i | ‘SSUOV‘;;;@ 7 \;)ojoredni:osuow e mm
i g s {C onnes Jr o TOLERANCES UNL\Eé OTHERWISE SPECIFIED @76 e
S .y Dr | M PESSON 2006/ 11/714 ANGUL AR 0.X +0.3 size Scale
i N - “.38 shell 25737‘ E;g Eigiig gggzjlljlj O°‘i2° o oO.xXxXx jo()»o‘s ECNA2 LSOSL‘O\M i
“.37 shel | 097‘5‘ Appr | P LEGARE 2006/ 11 /14 | Product family | — Spec ref
L/ Towi M angle contac o
/ CG*O‘:;M = - — CUSTOMER |shee*6of9
2 3 4 5 6 8
————— e e ey e s e e o T P




A ennnaRnaannnannRannnARnaannMAN LAYOUT DIMENS |ONS
‘ | | | | | | | | | | | | | | | | | ‘ ‘38
: YAt mea s aemGmdtar i ataf s ot aca i B $0.9 nin 2. 76 -
— | VALRANLIVZR I\JT || | | QT QT | | QT || | | | — N
@ ! \QT\%\W\W\ ! \W QW\ ! ! \W\”T\ ! | @ Cfo Y ‘ O O\Q O O O O O q) O O O O O O Ol|l0
GeLLLLLLLLLYLLL LY - | | Q © 0000000000000 0O =
. = i O 0 0 0 0 0 0 O O 0 0 00 0 O O ‘
[ \ \
B .- 4010 )
55,014 _ | ) 511
— ] b6 55 1)1
- I r
L et | 1 (p—— -
gl == e | 3
— - | R y | ‘ | | s
J . 7 [ ] -
‘ = | I
| * | “‘ ] ~
| | g H
| i >
D ;? ;? B
+0.12 = O . ) 405
B ol 11 — _ = _ -
= 52.30 00 _
= =
i | N -
& 7@@/
- ab “@@@@@@@@@@@@@@@@SN<]
==\ = CICICICICICICIGIGICICRCORCICICIGIE),
& L f
= surface - tolerance std |projection
= ‘ mm
i‘ ‘ . 38 e {C connes Jr o ‘iSLE‘;EEICES UNL\Eé OT‘HSEC;WA\O;E SP‘ESCO\ F‘\‘EOD‘ @76 —
S 4:_‘% 2. 16 Dr | M PESSON 2006/ 11714 f 0 0. X 03 |size Scale
F Eng | P LEGARE 2006/ 11/14 L INEAR 0. XX +0. 1 A7 2.
Chr | P LEGARE 2006/ 11 /14 0°‘i2° 0. XXX +0.05 ECN LSO06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
, & |© SUB FEMALE DM HES508 series|- ] ] e
SCAtEg FQJ/* with right angle contact g COI 8637 |748 A
catalog no CUSTOMER [sheet 7 of 3
; 3 4 ) RDS Rev A STATUS Regtgagerer—~A S

065 42000

oLl ST/Zc D WITROUT BRACKET

(50 contacts)




S .

Copyright FCI. Fc

-

o SHELL SIZE D WITH METAL BRACKET(50 confacts)
ARARRAREARARREARAARARARRARRARA S LAYOUT DIMENS IONS A
\77\77\7 \77\77\77\77\77\77\77\77\77\77\77\ 7\77\ ‘38
e LHSHIEL LA ALUBER PIDLSALL e #0.9 minl . -
@ \WW ! I ! I ! I ! 4 ! I ! I ! I ! Ak ! A ! I ! I ! I ! I ! JT\ @ ;O Y ‘ O 0O \Q O O O O O q) O O O O O O Olo B
Wy @ dy dy @ ) A A A A W @) @) d) @) @b @b ; ‘ @ o o0 0O 0O 0o O oo oo o o 0o o o o O @
% ; 3, } O 0O OO O O O O O OO0 OO 0 O O |
] ]
. 4010 - B
) 5507 ;" _ | } 6111
b6 55 1)1 —
— = ¢ opg £
| |
- I — Y C
~ mTnmnnnnnnnmnmmmmmimm - T "
~ <J o | | | | | | | | | | | | | | | | | _ k) _ s _ i
Al = | | s | | )
2 = L4 ¢ - = .
o N i | | . & R ] [ T H =
— = =y &
— — = — I
Pt I I o D
I i; ?g? o ey
w +0.25 — - —
- B 0030 _ N 8.6 40
- s | N - :
% 7@/ o !
- (D) ‘0000000 00000000e (D) |
ok ClelClCIClCICICCIGICIGICICIGICION |
— - i
UUUUUUUUUUUUUUU LUJUUUUUUUUUUUUUU e teornee o SiE[E{;EE;ES UNL\EéO:H;E)(;Wj%:::io:}j pée%n __mm_
Dr | M PESSON 2006/ 11/14 0. X +0.3 size Scale
|38 tng | P LEGARE 2006/ 11714 | ™ Linear [oxx 0.1 A2 20 F
— - Chr | P LEGARE 2006/ 11/14 0°‘i2° 0. XXX +0.05 ECN LS06-0174
Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
276 | . pt Rev.
_ - SCAtE\% Fc = SUB FEMALE DM HES08 series - CO1-8637-1748
oW ri angle contac < A
~J/ camxjghno hlong - - CUSTOMER [sheet 8 of 9
2 3 4 ) 6 8

ROS—Re=A e e e e



2 3 4 J 6 1 8

S .

Copyright FCI. Fc

-

OHELL ST/t D WITH PLASTIC BRACAET (50 contacts)
i A\ I I i A
HARAARAARARRARRARRARRAARAARANRAS LAYOUT DIMENSIONS
L PP TR T T T T e fe e P P P T T T T T T P R (L ‘38
2 B0 .9 mini 2 16 | ~
= B
SlelosIslelsiel8lo wlelole | 1D 2 °bo0o00o00po00soo0o0do
S| N NS 1| N (N | N NS 1 N N N T| N | NP (| (1N E| N1 N ‘ O 0O 0O O OO0 0000 000 0 0 O (-
R - | L }J O 0 OO O 0O 0O O O 00O O O 0 0O O @
]
.- 4010 - B
3507, . | ] 51 1
06,55 )" . —
(T 0 0 L R I ) — - "
~ | | | | | | | | | | | | | | | | | {) ( _ e | i C
o= R0 A A A | 1 | [
> % | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | (F B j
= 3 | " = I
- L;ﬂ ' j | f ——— 1 :
A > I
g 1] ;
- i I o
= = e = D
I || =< ==
< 59 30 go.25 . - ~ N 8.6 40
% 7@/ I i
- ”@@@@@@@@@@@@@@@@Sﬁg) x :
- ClCICICICICICICICICICIGICICICICICS i
A e §
surface - tolerance std |projection
K R e
A Dr | M PESSON 2006/ 11/714 0.X +0.3 size Scale
Eng | P LEGARE 2006711714 MU AR Livear [ o +0. | A7 2: 1 F
2 76 Chr | P LEGARE 2006/ 11/714 0°‘i2° ‘ 0. XXX +0.05 ECN LS06-0174
_ | ' Appr| P LEGARE 2006/ 11/14 JProduct family -|Spec ref
v - © Rev.
SCALF 3 Fc. = SUB FEMALE DM HES08 serles; CO1-8637-1748
ﬁJ/ CMZ‘\:ghm:\gM angle contact 7 o TR |Sheﬁ90{9A
2 3 4 5 ocdon S

e e st s o S T T




